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#include <stdio.h>

int main(void)

q

#include <stdio.h> int x:
int main(void) { int x; int y; int sum; int y;
x =100; y = 200; sum =X +Y; int sum:

printf("Ss =2l &: %d", sum); return 0; }

100;
200;

=X +V;
printf("% 2| &: %d", sum);

return 0;
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M =233 (sum_1.c)

=
MK 2|7| XA #include <stdio.
int main(void)
4 0
s
o X}
™— o
AH A

printf("& 2

return 0;




QM o233 (sum_1.c) &3 Zu}

= HOY: gecec sum_1.c -0 sum_1
= A Jsum_1
= 5 2| g: 300
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int x;
int y;
int sum;
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#include <stdio.h>

int main(void)

int x;

int y;
sum;

100;
200;

=X +Y;
printf ("% =2 &: %d", sum);

return 0;
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MK 2| 7|(Preprocessor)

olF LS ZRA|7|2h= o0]e] A ||
# 7|22 A%

#include <stdio.h>

v

Standard Input Output Header file
#E Y0 oiet 2tojE2 2| g2l o7t S0 US
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Z=(variable)

T Z2-0| Ar8ot= HIO|E & ZAH2E X
HoE AEste M| 22| St

[ doEe |
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BHZ= (variable)

= X} 2% (data type)
= HETF MHEE O OB 7F
SRR 20K 2 CHE 2Efe] O UK X|’d5t= A

BE AR

Al A
=T

short float char
int double
long long double
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0
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g
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B2~ (variable)

X} WAL} 40| 0|2
X} QhE = A

Z=XIE2 AlEF No!

= CRIOI1Q| 7|RIEQ} FZ2 O[F No!
= FO| A=A ==X}, Yes!

= 1z Z
e me

S As
s 2nd_student
student_number int
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int y
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M3l 2 X}, -> double f:
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X + Y,

sum
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#include <stdio.h>

int main(void)

%d", suii);

printf("% 2| g:




A& (cal_1.c)

. 27
= x7t 3% M =4 x2-5x+6 2| ¢f= Al LtSte}.
= (HINT: x2 & x*x= B25t1, =A10| All= y= LIEILHAM R)

#include <stdio.h>

int main(void)

printf("%d\n", y);

return 0;

2 {88 BlcsLAB



AZ(cal_1.c)

- WP 3ACc

ol.

1.
2. =:. gcccal 1.c-ocal 1
3. =9: Jcal_1
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i
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cal_1.c It X& =, git bash terminal 0| A| Of2ff THA| =2t

#include <stdio.h>

int main(void)

q

int Xx;
int y;
X 3;
y XkX—=5%X+6 ;

printf("%sd\n",y);

return 0;
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roductOfl X &5t
%= guotientOf|

rir
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#include <stdio.h>

int main(void)

{

int a,b;
int product;
int quotient;

product
quotient
printf ("%
printf ("%

return 0;

o 2R AN o

NS

: %d\n", product);
: %d\n", quotient);
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nt main(void)

int a,b;
int product;
int quotient;

product
quotient
printf("%& =+
printf ("%

return 0;

: %d\n", product);
: %d\n", quotient);
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= BE 2E g5 MEAZEH CHYT HOIHE MM &3 28Es = UAS

scanf() @

printf() g
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& Al x| Gt

. "M x|HA

= printf)0lA &fE =5 F4HE XE

>

=R IS PN el o A A0
%d 108 =2 &8  printf(“%d \n”, 10); 10
% SES-Y- printf(“%f \n”, 3.14);  3.14
%C =X2 &9 printf(“%c \n”, ‘a’); a
%s 2xtgz =3 printf(“%s \n”, “Hello”); Hello
EX)
= printf(" , );
-> 23 3.99
= printf(” ), //Btef sumO| Hd Hy2tH?
o
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AZ(sum_2.c)

. AEXEEEH

#include <stdio.h>
int main(void)
{

int x;

int y;

int sum;

printf("XHK XIS
scanf("%d", &x);

printf("SHR XIS
scanf("%d", &y);

sum = X + y;

printf("S=2| &: %d \n", sum);

return 0;

StAl 2 :10
StAl 2 :20
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scanf()

= scanf()Q| St

" 7|E':E—'?'—E1 s Lo H=0 HE
" HAEE X1IF4+7| ? LHAd{f EH%FEH %;ﬁt%%
= &(ampersand)= S WO FAE 7

10000 \

scanf(“%d”, &x)
20

[
X

EX)
scanf("%d %f", &number, &grade);
> 23 3.99
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float &2

scanf(“%d”, &i);
scanf(“%f”, &f);
scanf(“%lf”, &d);
scanf(“%c”, &ch);

char s[101; scanf(“%s”, &s);




A& (salary.c)

= printf()2} scanf()& 0|25},
o MzMZ ol B X}

: O @ ): 200

: 24000

31

B

IECSLAB



#include <stdio.h>

int main(void){
int salary;
int deposit;

printf("&=22 UHSIAL(
scanf("%d", &salary);

deposit = 10 x 12 % salary;
printf("10H =¢te| X=M: s%d\n", deposit);

return 0;
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A Z(circle.c)

= printf()2} scanf()& 0| &5} ® 2o HHEZ A L5l=
mz2ae XA EA
= HINT
) o| HIX| 21t HH S float Fo| M4 B2 MOISIAL,
Z)A—nr (cf. m = 3.142 7P8)

: 4
: 50.240002
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A (circle.c)

#include <stdio.h>

int main(void)

{

float radius;
float area;

printf("2X|ES AHSIM: ");
scanf ("%f", &radius);

printf("&2| HXE: %f\n", area);

return 0;
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=7} & (rectangle.c)

* printf()= 0| 85}0] At Fo| Zd|et HHE A 4dt=
Z2Is Hdoll 2.
= HINT
1) 280t Hys
2) B9 Ay
3) area = w*h;
4) perimeter = 2*(w+h);

h, area, perimeter2til S}A},

w, h, a
= 258 MEBY = U= doubled 2 2 5HAL

w

/\
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double w;
double h;
double area;

(rectangle.c)

double perimeter;

w 10.0;
h =5.0;
area wxkh ;

perimeter

printf("Ar
printf ("At2f2
return 9;

2% (w+h) ;

510l: s1f", area);

=2f: %1lf", perimeter);
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Z=7t A& (rectangle.c)

= High Level =™ X
1. =2 o 50| 25 M| EX}
2. ot HO| printf() = £ area, perimeters SA|0| ==l £X}.
W= MEXERH 25 HES| EXL(%If AHE)

width:10.0

height:5.0
AtZt@ el H0|: 50.000000
Azt el E2: 30.000000
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